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QUESTION 1

Which type of service would allow you to provision five servers with Windows Server 2016 installed?
A. laaS

B. PaaS

C. SaaS

D. FWaaS

Correct Answer: B

QUESTION 2

Which statement is true regarding Layer 3 underlay fabric networks?

A. Layer 3 underlay fabric networks can only be used across public networks

B. Layer 3 underlay fabric networks rely on IPsec tunnels to interconnect tenants

C. Layer 3 underlay fabric networks rely on Layer 2 loop prevention protocols

D. Layer 3 underlay fabric networks are more scalable than Layer 2 fabric underlay networks

Correct Answer: D

QUESTION 3

Which two statements are true about virtualized platforms? (Choose two.)
A. The vSRX must have two vCPU dedicated to the vCP

B. The vMX used separate VMs to host the vCP and vFP

C. The vSRX must have one vCPU dedicated to the vCP

D. The vMX uses one VM to host the vCP and vFP

Correct Answer: BC

QUESTION 4
In which two scenarios is Contrail used? (Choose two.)
A. private cloud networking

B. network hardware lifecycle management
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C. Network Functions Virtualization
D. policy-based routing

Correct Answer: AC

QUESTION 5

You are using service chains.

In this scenario, which component launches the NFV VM?
A. vRouter

B. NorthStar Controller

C. compute node

D. orchestrator

Correct Answer: C
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